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Plant Growth & Responses

L_Seed Development
1. Whatis a fruit? _ R0 el o e g thet ontning seedy

[ _\_0 2. Circle the letter of each sentence that is true about fruits.
[ovne (a. |As seeds mature, the ovary walls thicken to form a fruit.
Betenr e CE Fruits can carry one seed or several seeds.
Us - (c.) A fruit is a ripened ovary that encloses a seed or seeds.
\ Hordte *H. m\ d. The inner wall of the ovary never touches the seed.
T 3A S E’eg\ Loe is the outer layer of the seed that protects the
embryo and its food supply

4. Circle the letter of why seeds dispersed by animals are covered with tough coverings.

a, The seeds need to be able to float on water.

(b.) The coating enable the seeds to pass through an animal unharmed. CCo re foc r)
c. The seeds need to be digested by the animal that eats them.
d. The coatings prevent the seeds from being eaten by animals.

5. What is dormancy? {emob LA u\f\“c‘r\ +he gl‘:'\"f._y\‘.‘.Ly_L;f -

L\ie__b_“:\— _"w'} QoW A

6. What are two environmental factors that ﬁan cause a seed to end dormancy"

< -\e
S)’WTHS’ i 0. 1 et‘c-'\‘wre i 0~3’+~U‘€

7. What are two purposes served by seed dormancy"

Il H[aw *.H' ldr\ —.j' J"“N\CQ oka'{\faog‘ deCoerL}'_)

2. ,":‘Tli.u\d Seedd -&? 1&("'\\1&‘\“'{ U\-"\&@-(— 1,&60..\ cov\&‘t“o\r\.l'

8. Some pine tree seeds remain dormant until the high temperatures generated by a forest
fire cause cones to open and release the seeds.

Circle One : ( True' False
II. Plant Growth

1. Define the term hormone.

Hormone - S’dor\'amce -Hru& vy fﬁlc{wcecl Low OWR oy aﬁ anu Gegen 3™
0\-'\& &*LCB' Ckv\o‘H'\-LF f’-f"’ a‘c 'H\L Jawt lhﬂ\J\ij

Gy e

2. What are two wg‘; i‘n“;lllicc{h pl;:t hormones érontrol plant grow:th?
Lon'\lf‘h\ }G-JI‘L‘&“"'\ dp '}W“J'H‘ ¥ fie\ﬂ‘.’{" ;’*W-QVC}'

2. ( £ \rr \ H‘S pon jey %t‘ e-'wr'-,--ovxmyia| {q_u:.lr\‘}\ﬁ_aﬂd'

3. How does the hormone auxin affect plant cells? \ﬂl o lade  cel ¥ 2 {h XY _1;{ A
4, Circle the letter of each sentence that is true about auxins.

{_j,)Auxins cause roots to grow downward.

kh.’Auxms regulate cell division in meristems.
(_c. Bnipping off the tip of a plant removes the source of auxins —{ Side dran ch’\r
d In roots, auxins stimulate cell elongation. \_™Aore cep 4 T
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5. Define the term cytokinins.
Cytokinins - f(-f\-\— hor meney It ere ()Ncﬂw}—ﬂq Y 3rwl f\] ﬁdf
+ e o(r,ue.[a fIAJ ‘rod{T A Je ek
6. Circle the letter of each sentence that is true about cytokinins.

a.) They de,@y th agjcng of leaves.
5 They stop cell division and the growth of lateral buds.
(¢ They often produce effects opposite to those of auxins.
@ They cause dormant seeds to sprout.

7. What does each plant hormone cause fruits to do? ,
~ ~ .-'( X 1 'r}
» Gisbereliin:_Dewoadic tocvesset v size (il A-Rel-Tw)
Ethylene : (ﬁoﬁm ey - é«zu\fjr "l’b O 1'{4:_’ "

II1. Plant Responses

1. What are tropisms? Qg Yye nyey a'(,.. {\100:‘3- '{"}' e'\"l{“\}_\_J {“ “"\_"J:

2. Match each tropism with the correct definition.

1. 8 - Gravitropism A. The response of a plant to light.
2. A - Phototropism B. The response of a plant to gravity.
3. C - Thigmotropism C. The response of a plant to touch.

3. Circle the letter of each sentence that is true about the effects of thigmotropism.

(‘a, The tendrils of a grapevine wrap tightly around any object they encounter. 1
.) A plant that is touched regularly may be stunted in growth. | - - M.
(¢.’ The stems of climbing plants do not grow straight up. ve}fow T;%l\Q/}[l' At
d. When the tip of a vine encounters an object, it breaks off. | ____Q_-Q“’_‘"!_f“gf‘.‘_ i
4. Define the term photoperiodism.
Photoperiodism - <= ponse o-@ ()\wx\“a' 4o ()cr\‘orlr d J}- \\3k+

+- aLof' kNLTJ_

5. What is photoperiodism in plants responsible for? ‘Ti o § A Seasv I\kl
&c‘i:u\"{er ,‘:;u\c‘-\ oY --{[ower?!\% i <}r0v.l'i'lr\
6. Why are plants such as chrysanthemums and poinsettias called short-day plants?

> They Hower whan  doyr are shoct

7. What are long-day plants? I*ﬁl‘o-d'S' 'H\L} 'ﬂd__\.def whao cﬂmw‘ [ /"‘5’
{Ir:!r/ +.~l.‘{) ;,'..‘MJJ"} L

8. Define the term winter dormancy.
Winter Dormancy - r:d& lu_r:hj Which an cryud sy o8 reth 4
ausf-.‘q."kl decreare o .r"th

9. How do shorter days and lower temperatures affect photosynthesis?

- Geadoall y reduor effion Cy e.-@ ?!\.ﬂ[}l.i,; wheny

10. As cold weather approaches, what happens to deciduous plants? | wu ch‘p‘r o
' e %
i_‘:kq”NS‘g R+LL+TC iﬂc\’Lu«u;rj (‘F\'uu\:£-¢r+ mmo_ra.fj {'?1 i ﬁ':.'h/' 5 ecJ d{r Jlﬁ.'vh,-
11. Why doesn’t a tree’s sap freeze during a hard, cold winter? ¥ lpam & ﬁl“\ lc €n

fispues pumoed €l of iony (acts ke andi-fieeze in corv)




